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G.C.A.2: Chords, Secants and Tangents 2

1 In the accompanying diagram of a circle, chords
AB and CD intersect at E,CE=5,CD =13, and
AE =4. Find the length of BE.

2 In the accompanying diagram of circle O, chords

AB and CD intersectat E. If AE =4, EB =6, and
CE =3, find ED.

3 In the accompanying diagram, AB and CD are

chords of the circle and intersect at E. If AE = 10,

EB =9, and CE = 6, find DE.

In the accompanying diagram of circle O, chords

AB and C_F intersect at £. If EB =16, AE =5, and
CE =10, find EF.
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In the accompanying diagram of circle O, chords

A_B and CD intersectat E. If AE=2, CD =9, and
CE =4, find BE.
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6 In the accompanying diagram of circle O, chords 8 In the accompanying diagram of circle O, chords
AB and CD intersect at E. If @ =4, EB=09, and AB and CD intersectat £, AE =x, EB=x+1,
CE = 6, what is the length of ED? CE=x-1,and ED = 2x. Find 4AE.
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7 In the accompanying diagram of circle O, chords
AB and CD intersect at F, Ai =5,CD =18, and

ED =38. Find the length of £B. 9 Incircle O, diameter AB s perpendicular to chord

CD at E. If AE = 16 and EB = 4, what is CD?
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) 32
2) 16
3) 10
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In the accompanying diagram of circle O, chord

CD bisects chord AB at E, CE =2, and AB = 8.
Find ED.

In circle O, chords AB and CD intersect at £. If
AE =4, EB =12, and ED = 16, then CFE equals
1) 19

2) 16

3) 3

4) 48

Chords A_B and 5 of circle O intersect at E. If
AE=4,EB=15,and CE =2, find ED.

In circle O, chords A_B and @ intersect at £. If
AE =8, EB =6, and ED = 12, find the length of

CE.

In a circle, chords AB and CD intersect at point E.
IfAE=x+1, EB=x, CE =2, and ED =3, find the
value of x.
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In a circle, chords AB and E intersect at £. If
AE=21,EB =5, and ED =17, find CE.

Chords )TY and Z_W intersect in a circle at P. If
XP="7,PY=12, and WP = 14, find PZ.

In circle O, chords AB and 5 intersect at £,
AE = 3 inches, BE = 8 inches, and CE is 2 inches

longer than DE. What is the length of DE ,
expressed in inches?

In circle O, chords A_B and @ intersect at P. If
AP =a, PB=b, and CP = ¢, what is the length of

PD?

ab
1) 7
ac
2) 7
bc
3) p
a+b
4) c

In a circle, a chord of 10 centimeters bisects a
chord of 8 centimeters. The length of the shorter
segments of the 10-centimeter chord is?

1) S5cm

2) 2cm

3) 8cm

4) 4cm
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010206siii
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